1. Show the state of the stack at each stage of the following postfix calculation.  Use a column of the table to represent what’s on the stack at that stage.  Start at the left and proceed to the right.
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2. Find the corresponding infix expression.  

3 4 7 5  * + * 6 2 8 + * +

3 4 7 * 5  + * 6 2 8 + * +

3 (4 + 7 * 5)  * 6 2 8 + * +

3 * (4 + 7 * 5)  6 2 8 + * +
3 * (4 + 7 * 5)  6 2 + 8  * +

3 * (4 + 7 * 5)  6 * (2 + 8)  +

3 * (4 + 7 * 5)  + 6 * (2 + 8)  

3. Find the corresponding postfix expression.  

( ( 6 + 4 ) * 7 + 5 ) * 3 + 9

6 4 + 7  5  3  9 
6 4 + 7 * 5  3  9 
6 4 + 7 * 5 + 3 9
6 4 + 7 * 5 + 3 * 9
6 4 + 7 * 5 + 3 * 9 +

